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reg_asym_us_avg RMS (ppm)
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reg_asym_usr RMS (ppm)
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reg_asym_usl (ppb) 1D pull distribution
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reg_asym_usl RMS (ppm)

o — 0'209¢

° — 8'909€

° —{ £'909¢

(] — 9'909¢

° — §'909¢

° — ¥'909¢

o —] €£'909€

o — 2'909¢
° — 1°909¢

o — 0'909€
L] —{ 0T°S09¢
o — 6'509¢
(] — 8'509¢

o —] 1'509€

o — 9'509€

° — §'509¢

° —| '509¢

° —] £'509€

o — 2'509¢

o — 1°'509¢

o — 0'509€

° — L'709€

° — 9'v09¢

° —| §'v09e

° — ¥'709€

° — €09¢

L] — 2'709€

° — T'v09¢

° — 0'709€
o — 0T'€09€

° —] 6°€09€

° —] 8'€09€
° —{ L'€09¢
— 9'€09€

—| 5'€09¢e

° — ¥'€09€

o —] €£'€09¢

° —] 2°€09€

° — 1°€09¢

° — 0°€09€
° — 0T°209€
° — 6'209¢

° —| 8'209¢
[ —{ 2'209€

° — 9'209¢

° — §'209e

° —| '209e

° — £209¢

° — 2'209€

° — 1°209¢

o — 0'209¢

o — 1°965€

° — 0'965€
° — 0T'565€

° —| 6'565€

° —| 8'565€

° —| L'S65€

[ — 9'565€

° —| g'g65€

° —| ¥'S65€

° —] €£'565€

— 2'565€

°
| Lo b b b b I3 Ao
PPttt il iiiolill]l]qosese
< ™M W I o o)) [ee]
™ ™ ™ ™ ™ N N
— — — — — — -

(wdd) sy



reg_asym_us_dd (ppb)
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reg_asym_us_dd RMS (ppm)
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